Math 172 Quiz 7 Name:
Sections: 10.5-6 Point values in | boxes ]
9 November 2018

1. Please circle True or False, as appropriate.

(a) T @In the Ratio Test, if lim Ontl J/}jthe series Y  a, diverges.
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ff_’lfr_lf__l = 5|z|, the radius of convergence R is 1/5.
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= 00, the radius of convergence is 0.

(c@ F: Zan(m -, if TLILI&

dT @Z an(x — 1)™ converges when z = 0, it must converge when z = 2.

2. For each of the following series, circle if they converge or diverge and circle the test you used.
(No justification required.)
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CONTINUED ON REVERSE.



3. For the power series below, find and clearly state the radius and interval of convergence.
Justification required: identify the tests you use, verify assumptions, and write conclusions.
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